Natural Selection in population of Saccharae utensilus

Our class will be a population of finches with a variation in beak types. We will startwith three finches, one with a spoon beak, one with a fork beak, and one with a knife beak.

Individuals will have a certain amount of time to gather as much food into their nests as possible. From this amount, we can determine if the individual survived and how many offspring they could have.

We will continue this process, adding offspring through the rounds and recording data.

RULES:

· You may not use your hands except to hold your “beak” and open the plastic bag (“the nest”)

· NO RUNNING

· You may not push other “birds”, deliberately knock the food out of their “beaks”, or stealfood from other bird’s nests

· When the timer says that time is up, stop where you are and return any food

· Do not eat any of the food.
DATA SHEET- Natural Selection in population of Saccharae utensilus

	# of Food Pieces 
	Outcome

	Fewer than 5
	Does not survive

	5 to 9
	Survives but does not reproduce

	10 to 14
	Survives and produces 1offspring

	15 to 19
	Survives and produces 2 offspring

	20 or more
	Survives and produces 3 offspring


	
	ROUND 0
	ROUND 1
	ROUND 2

	
	# in population
	% of population
	# in population
	% of population
	# in population
	% of population

	Spoons
	
	
	
	
	
	

	Forks
	
	
	
	
	
	

	Knives
	
	
	
	
	
	

	
	ROUND 3
	ROUND 4
	ROUND 5

	
	# in population
	% of population
	# in population
	% of population
	# in population
	% of population

	Spoons
	
	
	
	
	
	

	Forks
	
	
	
	
	
	

	Knives
	
	
	
	
	
	

	
	ROUND 6

	
	# in population
	% of population

	Spoons
	
	

	Forks
	
	

	Knives
	
	


Analysis

1. Correctly label and graph the frequencies of each phenotype for the 6 rounds of experimentation:
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2. What is the variation in the population?

3. What could have caused the variation in the population?
4. Describe the pattern of change for the frequency of each beak as displayed in your graph, taking note of the change in food supply.

Spoons:

Forks:

Knives:

5. How can we tell that natural selection is occurring in our population? Use specific data from our lab in your explanation.

6. Which phenotype had the greatest fitness during the wet years (rounds 1-3)

7. Which phenotype had the greatest fitness during the dry years (round 4-6)?

